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e L EEEE
HE: B0l Y= 04, RS F= IS
Hel: dHBS MEXHE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
02 It M AHE L 33,570 33,570 0
OLEEEF2AMY 33,570
04 QIZFHALAIRH B = 42,000 42,000 0
oxdEs EE3 12,000
OE=0HLE 23N 30,000
2 83T XJAS 7,200 7,200 0
201 L2l 7,200 7,200 0
01 At 22l 7,200 7,200 0
OMBS st&2s S A 7,200
ESHENE 29 1,204,948 1,117,206 87,742
306 =93 1,204,948 1,117,206 87,742
01 &3 1,204,948 1,117,206 87,742
OS=HLEMHE &2 1,204,948
NMASIEHAUWERZD MR X 92,700 0 92,700
308 AHAIEHHSOIA 92,700 0 92,700
01 HXNHHBHEELS 92,700 0 92,700
02019 MABIZHEUERD W 92,700
o 2 B& 4,276,557 3,751,390 525,167
= 91,040
J| 2,927,727
< 1,257,790
HEEH 2 A4 SML BExUS 15,800 15,800 0
J| 7,900
< 7,900
301 L2 4= 15,800 15,800 0
J| 7,900
< 7,900
09 HALAHIEA S 15,800 15,800 0
ONg=dae AL SAX ExuS 15,800
J| 7,900
< 7,900
NP =AM ESAIE 2SR 455,333 425,872 29,461
J| 380,451
< 74,882
308 XtXIEHHSOIA 455,333 425,872 29,461
J| 380,451
< 74,882
01 AXHHBILEES 455,333 425,872 29,461
ONEEZIX ESAE 29 406,058
J| 334,401
= 71,657
OJXtZ =T At MAHl KA 31,000




/élil [ R W _l_ o
Ha: B0l Y= 04, BES Fe OIE
Sl oy B B (B9 ®R)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 31,000
OJIEdZHNol kA AEgE=d K& 18,275
J| 15,050
o= 3,225
IR ZHTIINA ESAE JsE2d 4,875 18,750 N 13,875
J| 3,250
& 1,625
403 XX SRS K2 0| & 4,875 18,750 N 13,875
J| 3,250
& 1,625
01 MXHHE2E = 4,875 18,750 N 13,875
OJIEZZNNA ESAE JDsE2 4,875
J| 3,250
= 1,625
JIIEZE Lok XEesls T8 & odl X3 104,766 104,766 0
Dl 86,031
o=t 18,735
307 212t0| & 2,000 2,000 0
J| 1,400
o=t 600
05 QIZtR &2 2,000 2,000 0
OJIAZ1|oi &+ 2 2H|(1366) 2,000
J| 1,400
& 600
308 XAHXIGH SO0l & 102,766 102,766 0
J| 84,631
& 18,135
01 AIXISHHENEXZ 102,766 102,766 0
OJIEdZE0A Xess T2 72,857
Dl 60,000
o 12,857
OJIE=Z& 0ol XA 2 24| 29,909
J| 24,631
& 5,278
JIEZHE Jlol A nEXsZs ) 29 21,347 58,812 N 37,465
J| 17,580
& 3,767
308 XHXIEH SOl A 21,347 58,812 N 37,465
J| 17,580
&< 3,767
01 AIKSHHEMNEX= 21,347 58,812 N 37,465
OJIEZH Il At A= 21,347
J| 17,580
o= 3,767
IIEEZY MEA 2R 385,766 288, 106 97,660
J| 257,178
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Ha: B0l Y= 04, BES Fe OIE
Sl oy B B (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

== 128,588

308 XXM SO A 385,766 288,106 97,660
J| 257,178
< 128,588

01 IXNHHBNEES 385,766 288,106 97,660
Osg &2 2IXH 128,836
J| 85,891
< 42,945
Otz =Ey dga 2 256,930
J| 171,287
= 85,643

dEZ24 dgs 2N 430,926 306,710 124,216
J| 287,284
& 143,642

308 XX EHSOIA 430,926 306,710 124,216
J| 287,284
< 143,642

01 HIXNHHNBNEES 430,926 306,710 124,216
Oy dEA 29XH 430,926
J| 287,284
= 143,642

AEZYIHAN ESAE 2GR 549,930 477,971 71,959
J| 455,892
< 94,038

308 XXM SOIA 549,930 477,971 71,959
J| 455,892
< 94,038

01 AXHHBISEES 549,930 477,971 71,959
OdZHIcit ESAE 29 549,930
J| 455,892
< 94,038

SZAWeR X2 &= T2 60,775 45,657 15,118
J| 50,050
< 10,725

308 XtXIEHHSOIA 60,775 45,657 15,118
J| 50,050
< 10,725

01 HXNHHBHELS 60,775 45,657 15,118
OdZdIci A g s s=Z20Y 60,775
J| 50,050
=) 10,725

SZAMHI 226 2EH X 77,277 95,991 A18,714
9] 63,640
< 13,637

308 XX EHH SOl 77,277 95,991 N18,714
J| 63,640
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Ha: B0l Y= 04, BES Fe OIE
Sl oy B B (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 13,637
01 IXNHHBNEES 77,277 95,991 N18,714
Od=4dLloiAt 2=4dl, 2+Edl X& 77,277
J| 63,640
< 13,637
SdEZNHAd SssHES N 47,545 51,188 A 3,643
J| 39,225
= 8,320
308 XHXI &M S0 & 47 545 51,188 3,643
J| 39,225
< 8,320
01 X HHILEXS 47,545 51,188 A 3,643
O&Z==IoiXt EsHIE S X 47,545
J| 39,225
< 8,320
ZdIo 0IF0E EsAE 2EXE 134,259 130,258 4,001
J| 110,566
< 23,693
308 AHXIEHHSOIA 134,259 130,258 4,001
Jl| 110,566
< 23,693
01 HIXNHHNBMNELS 134,259 130,258 4,001
OZgol 004 ESAE 29 134,259
J| 110,566
< 23,693
ZdIol 0lF0HE ESALE g2 3,060 0 3,060
J| 2,520
< 540
403 MtXISHH S0l & 3,060 0 3,060
J| 2,520
< 540
01 X SHHA=2E = 3,060 0 3,060
OZ4Ilol OIFHE EsAE MBS 3,060
J| 2,520
< 540
Zdpgns NEXAJ2 N (82 0Lns) 92,840 92,840 0
= 46,420
< 46,420
307 21201 A 92,840 92,840 0
= 46,420
= 46,420
11T AL SXAIEE = 92,840 92,840 0
OFgugus NGNS N (4520
nx) 92,840
= 46,420
< 46,420
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AT saF e IRRCEEE LT
Ha: B0l Y= 04, BES Fe OIE
Sl oy B B (B9 ®R)
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
ZYnE NS XN (=SS R) 10,120 0 10,120
= 10,120
307 gl2tol & 10,120 0 10,120
= 10,120
11T ALS S RAEE = 10,120 0 10,120
ZMYRS NAXI2 XA O =20
EgmE=Y 10,120
= 10,120
0o =HANA 2SN A 28,833 26,698 2,135
J| 23,745
< 5,088
308 XX EHH SOl A 28,833 26,698 2,135
J| 23,745
< 5,088
01 AXSHBLELS 28,833 26,698 2,135
OFgHoidd =HXNE 294 28,833
J| 23,745
< 5,088
ZA0cHE =AXE dHESZS 3,000 0 3,000
J| 3,000
403 XX SHH S X =0l & 3,000 0 3,000
J| 3,000
01 HIXSHMA2E X 3,000 0 3,000
OZgIloiod =N dUHES2 3,000
J| 3,000
oidtetdl dH 2E XA 732,598 678,458 54,140
J| 603,315
< 129,283
308 XXIEHH SO0l A 732,598 678,458 54,140
J| 603,315
< 129,283
01 AXHHBILEES 732,598 678,458 54,140
Odfittetd|dye 2 X2 318,475
J| 262,273
= 56,202
OdfttetlIotsS ke 22X 414,123
J| 341,042
< 73,081
oibtetdldlEe, a=Zd0ciAt ESA4 Jls22H X 22,724 37,500 N14,776
%
J| 15,149
< 7,575
403 A X EHHSH=20IA 22,724 37,500 AN14,776
J| 15,149
< 7,575
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14,249
9,499
4,750
8,475

5,650
2,825

37,500

o

29,000

14,500
14,500

29,000

307 21201 A

W

29,000

14,500
14,500

29,000

1A SXAIE 2 =

H A

29,000
29,000

14,500
14,500

29,000

o

30,000

20,000
10,000

30,000

308 NHXIEHHMSO0IE

oW

30,000

20,000
10,000

30,000

01 HXSHHBaEE

OZlotsdEAE ¢

o =

K]

=

o

30,000

30,000

20,000
10,000

30,000

& OHOH I o Kb XTI &

N

H

244,689

177,505
67,184

114,848

129,841

308 XXM SO0l ™

J|

H

244,689

177,505
67,184

114,848

129,841

01 HAHHMZEES

O&OHOHIIGH AL & &AL 29

O« OHOH LI oK OF

0H1
o
k-
(m
p=]
o
=
m
Mo
02

OSOHOHIIoH Xt XIRAE 29

Il

H

y

H

Il

H

244,689

117,623

78,415
39,208

35,393

23,595
11,798

91,673

75,495
16,178

114,848

129,841

SOHOHIGH A K& JIs2Ed

n <

12,863

8,575
4,288

7,500

5,363




= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
403 UHXSHHSA=0l& 12,863 7,500 5,363
J| 8,575
< 4,288
01 X SHMA2E X 12,863 7,500 5,363
OXOHOHOIGHA RI&AIE JIsEL 12,863
| 8,575
< 4,288
AOHOHIIGH At R E=XIJ ALY 27,929 15,785 12,144
J| 23,000
< 4,929
308 XXM SO A 27,929 15,785 12,144
J| 23,000
< 4,929
01 IXNSHHBANEES 27,929 15,785 12,144
OSOHOHIIGH A 2 EXI& AL 27,929
J| 23,000
< 4,929
HE=Z" 4L 29 24,000 24,000 0
308 XtXIEHHSOIA 24,000 24,000 0
01 HXNHHNBHELS 24,000 24,000 0
Ooxg=y dga 29 24,000
OEZHNoH A HAESA X& 5,400 5,400 0
308 A EHSOIA 5,400 5,400 0
01 HXNHHNBHNEELS 5,400 5,400 0
O&=ZIlcHA HAEBSA XA 5,400
HEE" HeEns 5,000 5,000 0
201 L2l 5,000 5,000 0
01 At 2t 2l 5,000 5,000 0
O32Xt Hd3 5 400K, &= =5 oY
= 5,000
OH23 83 13668IEH 2Z(2HIXH) 615,742 476,230 139,512
J| 307,871
S 307,871
307 glz2tol & 615,742 476,230 139,512
J| 307,871
< 307,871
05 RIZHRI & 3 615,742 476,230 139,512
On&2=d3s 13664 EH 2 615,742
J| 307,871
= 307,871
OM21383 13668 2Z (RMA) 30,000 30,000 0
307 21201 A 30,000 30,000 0




Bl A 04, B=S T OE
oa A =7 (e @e)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
05 RIZHRI & 3 30,000 30,000 0
On&2=H3s 13664 EH 2 30,000
G223 1366HE JIsE2Z(IBIXA) 8,000 8,000 0
| 4,000
< 4,000
402 2I2H X201 M 8,000 5,000 3,000
| 4,000
< 4,000
02 22t X2 AL E X (01X THE) 8,000 5,000 3,000
Od2sSd3t 1366H0EH JIsES 8,000
| 4,000
S 4,000
HE=y 23 Ald SAML AN 12,000 12,000 0
308 XX EHHSOIA 12,000 12,000 0
01 HXNHHBHELS 12,000 12,000 0
OW&E=" 23d A4 SAX ML 12,000
=2 2 A4 294 N& 50,160 0 50,160
307 glz2tol & 20,400 0 20,400
05 RIZHRI & 3 20,400 0 20,400
ONe=y 2 Ald 2YH XA (1366) 20,400
308 XXM SOIA 29,760 0 29,760
01 IXNSHHBMNEES 29,760 0 29,760
Od=ZY 2 A8 22 X3 29,760
SRUESPNE-Dl=y 3,732,449 3,799, 164 266,715
= 2,164,914
< 1,567,535
MM XE2G(2E) 1,590,831 1,793,414 A 202,583
= 933,596
< 657,235
307 21201 A 1,590,831 1,793,414 A 202,583
= 933,596
< 657,235
11T MISXASEEX 1,590,831 1,793,414 A 202,583
OMZHH XZ¥29 (&) 786,124
= 439,862
< 346,262
OMZHE XF2IG (M) 804,707
= 493,734
< 310,973
MEHEH XIE 2L (A2) 1,231,318 1,296,616 A 65,298
= 1,231,318
308 XXIEHH SOl A 1,231,318 1,296,616 A 65,298
= 1,231,318




SCREE<ETE IR EEE-EE:

o= PSSR = g
M B0l Y= 4, =S = OIE
SR PP EEREED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 1,231,318 1,296,616 A 65,298
OMYHMEHE XE2L(AZ) 1,231,318
= 1,231,318
HEFHSANAEEH XA 114,541 100,000 14,541
308 XXM SOIA 114,541 100,000 14,541
01 XML EES 114,541 100,000 14,541
OEHYXNAEH XA 93,541
OXNZsd ZPussed 21,000
HEFHAXAI 2 SAN MU XA 58,680 56,640 2,040
307 glz2+ol & 43,200 40,800 2,400
03 BIAHNHE2IHIEL 43,200 40,800 2,400
OBAR(EE )M M & HI 43,200
308 XXIEHH SOl A 15,480 15,840 A 360
01 AXHHILEES 15,480 15,840 A 360
OBAR(AIZ) HRIMAHI 15,480
ZAHEdHSNZUERTIE L3 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 It S AIHE L 20,000 20,000 0
OZILEHEXNH HERZD 43 20,000
E20H AL ME XA (XA 205,591 165,918 39,673
307 glz2tol & 205,591 165,918 39,673
03 BIAHNHE2IHIEL 205,591 165,918 39,673
OE=0igogElLdH 29 205,591
ESHHAEM(HEUMY) 2 275,488 188,576 86,912
307 glz2+ol & 65,000 20,000 45,000
02 QIZtE M AHE X 65,000 20,000 45,000
OBS0LAEANY 8 U AZR2 65,000
308 MtXIEHMSOIH 210,488 168,576 41,912
01 X HHILEXS 210,488 168,576 41,912
Os=04E &3l 210,488
=2 U004 3 2LH NIAL 100,000 100,000 0
307 gl2tol & 100,000 100,000 0
02 It M AHE L 100,000 100,000 0
OZ= 34E0WY 3YdH XA 100,000
Hdz3INY 332 H 28,000 28,000 0
402 RI2EX20| A 28,000 0 28,000
01 U2 E2AILE X (KM ) 28,000 0 28,000
Oudgasly ediie X& 28,000
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MolmT RN
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- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
2AAHSH K& 50,000 50,000 0
307 2Iz2t0| A 50,000 50,000 0
02 DIZHEAAIRE E X 50,000 50,000 0
OFdHLHdAHLEE L AFHOIE X 50,000
HAFAXKO| 2 JsE2H XS 8,000 0 8,000
402 SI2FXHE0| & 8,000 0 8,000
01 CIZEXIEANSEXR (MMM E) 8,000 0 8,000
OAAIGXKAD2 JsB2H N (2E) 8,000
= 8L Xel SSHE =8 50,000 0 50,000
207 I & 50,000 0 50,000
01 A& H| 50,000 0 50,000
Os= (82 Xel SegHESE A72E29 50,000
A28 =sH 25,127,829 13,570,270 11,557,559
= 9,540,349
J| 11,762,993
& 3,824,487
ALINAEXNSHEH &H 132,470 123,793 8,677
J| 101,900
o= 30,570
308 AMXISHMSOIA 132,470 123,793 8,677
J| 101,900
= 30,570
01 AIXSHMENEXZ 132,470 123,793 8,677
OAHLINERNIHLHEH 29 132,470
J| 101,900
& 30,570
AL0E U2IIIEXNF SedyH 29 932,360 692, 121 240,239
J| 717,200
= 215,160
308 XHXIEHSOIA 932,360 692, 121 240,239
J| 717,200
& 215,160
01 AIXSHMEMNEX= 932,360 692, 121 240,239
OAHLINE - U2sIIsXNSE SSHEH 89 932,360
J| 717,200
= 215,160
2=20lLsH AIY 220,688 126,400 94,288
J| 169,760
& 50,928
308 XHXIGHHI SO0l & 220,688 126,400 94,288
J| 169,760
& 50,928
01 IXHHNIMNEXS 220,688 126,400 94,288




=T - <
O U= o1&, W=S F= U=
Z2IHE=ES

CRA - S(BH) - HRAY - B il HlnE2
Oss=20tL=sH A Y 220,688
| 169,760
< 50,928
=R ASEE =4 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 HAFAANFEX 7,000 7,000 0
OJ=szst 13712 =l XA 7,000
SHE2IIE HEZ=|H & X (0ts2¢=Hl) 9,065,592 3,919,500 5,146,092
8,058,304
< 1,007,288
308 XX EHHSOIA 9,065,592 3,919,500 5,146,092
8,058,304
1,007,288
01 AXSGHBLELS 9,065,592 3,919,500 5,146,092
OstE2IIE NEHLS|H S NA(0tsS2=H|) 9,065,592
8,058,304
< 1,007,288
SHRER2IIE SEXNAIE 244 & - X128 X 10,554 11,179 A 625
7,036
S 3,518
308 XXM SO0 A 10,554 11,179 A 625
7,036
< 3,518
01 AXNSHHBLAEES 10,554 11,179 A 625
OstR2IE =SXAE 4% &4 - JAZHIX
& 10,554
7,036
< 3,518
SSMHEIIFE(HYUU) =AHAXA 42,200 37,915 4,285
42,200
308 XXM SO0 A 42,200 37,915 4,285
42,200
01 AXSHBLEES 42,200 37,915 4,285
OZsMeEINHE (HLLU) =HAA 42,200
42,200
SHRZ2ILE X 301,208 318,260 A 17,052
308 XXM SO0l A 301,208 316,260 A 15,052
01 AXNSHHBLEEES 301,208 316,260 A 15,052
OstRL2It= Hedl XI& 240,096
OstR2IIE nsstd I W=EHl X2 61,112
otolEs= XI& 10,038,209 4,836,388 5,201,821
8,874,147

o

1,164,062




NETNVPE-EE SN oeE
Hu: B0 Y= G4, #ES F= OE
&S ALIEEH (&)
2 . - 4 14
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
307 glz2tol & 110,000 110,000 0
2 77,000
< 33,000
11T M SXASE EX 110,000 110,000 0
OO0l SSAE 290 EII2 23 110,000
= 77,000
< 33,000
308 XXIEHH SOl A 9,928,209 4,726,388 5,201,821
= 8,797,147
< 1,131,062
01 AXHHILEES 9,928,209 4,726,388 5,201,821
OO0tolSsS K& A 9,928,209
= 8,797,147
S 1,131,062
OtOISS X HEH SAL MM 11,760 13,440 A 1,680
308 MtXIEHSOIH 11,760 13,440 21,680
01 AXSHBLEELS 11,760 13,440 A 1,680
OO0 ==X ME SAX HRIMA 11,760
tsda2dst NE AY 218,235 271,498 A 53,263
2 145,490
< 72,745
308 X EHSOIA 218,235 271,498 A 53,263
= 145,490
= 72,745
01 AXNSHHBLEES 218,235 271,498 A 53,263
OFe - RAJNNEXA 218,235
2 145,490
< 72,745
HAESRED LR (0tsL=H|) 151,954 74,250 77,704
J| 135,070
< 16,884
308 XXIEHHSOIA 151,954 74,250 77,704
J| 135,070
< 16,884
01 AXHHILEES 151,954 74,250 77,704
OFAUHSER XA (OtSALSH|) 151,954
J| 135,070
S 16,884
HAEE 0222 HAEII&S 29 37,852 37,500 352
J| 25,235
< 12,617
308 MtXIEHMSOIH 37,852 37,500 352
J| 25,235
< 12,617




DolEEMD SN HAEM
D B0l YUE oM, #ES T JIE
D AYIE R (Sl & &)
- _ — d =
CRN I S(EH) - MRAY - BYS e HlDE2
01 HIXNHHNBHNEES 37,852 37,500 352
OASE DIELRX HEIIZ 29 37,852
J| 25,235
< 12,617
Ch2stEXJAHEH 29 575,250 716,720 A 141,470
J| 442,500
< 132,750
308 XXIEHH SOl A 575,250 716,720 A 141,470
J| 442,500
< 132,750
01 AXHHILEES 575,250 716,720 A 141,470
OU=RIIIEXNJAEH 24 575,250
J| 442,500
S 132,750
CENEXNNE HEEH 24 37,300 34,900 2,400
J| 18,650
< 18,650
308 MtXIEHMSOIH 37,300 34,900 2,400
J| 18,650
< 18,650
01 HXNHHNBHELS 37,300 34,900 2,400
OU=RINEXNE NEHEH 23 37,300
J| 18,650
= 18,650
Ct2stts =20 unsEX& 210,109 210,101 8
J| 186,169
< 23,940
308 XX EHHSOIA 210,109 210,101 8
J| 186,169
< 23,940
01 IXNHHBNEES 210,109 210,101 8
OUZsItE s=0u=sia 210,109
2l 186, 169
< 23,940
Ct23tE SatAtY ,027,707 1,731,356 296,351
J| 1,771,085
< 256,622
308 XX EHH SOl A ,027,707 1,731,356 296,351
J| 1,771,085
< 256,622
01 X HHILEES ,027,707 1,731,356 296,351
OUEZsisH dHLYLEXA 338,993
J| 300,370
= 38,623
OAtell 22l A X & 140,447
J| 124,446




NETNVPE-EE SN oeE
Ha: B0l Y= 04, BES Fe OIE
Sl AANISH (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
< 16,001
O0ISAHUHZ AL XA 190,906
J| 169,155
< 21,751
OYEZXE AL XI& 947,933
J| 839,938
< 107,995
OUE3ItE SHIAXA(ER) 409,428
J| 337,176
< 72,252
Ct23tHlH SMA HSHEXR 37,800 36,120 1,680
308 XXM SOIA 37,800 36,120 1,680
01 AXHHBILEES 37,800 36,120 1,680
OUZ2IIEXNJEEH SAA HSHMA 37,800
=22 SIS ML 120,000 120,000 0
308 XXl EHH SOl A 120,000 120,000 0
01 X HHILEES 120,000 120,000 0
O=2Z2ZIIEEs AR &3I4 E ML 120,000
Ct2stits SHAXI S (X)) 133,800 121,112 12,688
308 AHAIEHHSOIA 133,800 121,112 12,688
01 HXNHHNBHELS 133,800 121,112 12,688
OU=sits SsHAXE (XHA) 133,800
Ct2stts X3 27,000 27,000 0
201 Let24E] 16,600 16,600 0
01 At 22l 16,600 16,600 0
OC23ItE AKX g2t 16,600
301 et a3z 400 400 0
09 &AL HIB &S 400 400 0
OU=E3aIE A4AK 8o AL AU 24 400
308 A EHHSOIA 10,000 10,000 0
01 HXNHHBHELS 10,000 10,000 0
OU=2IEXNE 2HI2 g§sH 10,000
Ct23tt=E &tits =M K& 15,000 15,000 0
308 XXM SO A 15,000 15,000 0
01 IXNHHBNEES 15,000 15,000 0
Ot=3ot=E &its =M XN 15,000
CHEN 2 Mg (HeEX) 416,000 35,000 381,000
= 336,000
< 80,000
403 XIS E X201 H 416,000 35,000 381,000




0x
0
2
i)

il
x
2
X
0
J2

A= 0 2 = =
Hu: B0 Y= G4, #ES F= OE
Sel: AAINI T Y (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 336,000
< 80,000
01 AXISHHA=2E = 416,000 35,000 381,000
OUEN S8 MY (IHE2EX) 416,000
= 336,000
< 80,000
CHEH =8 A (ZAEX) 258,597 34,580 224,017
2 184,712
< 73,885
308 XX EHHSOIA 258,597 34,580 224,017
2 184,712
< 73,885
01 AXHHILEES 258,597 34,580 224,017
OUENESSAE (F4EX) 258,597
2 184,712
= 73,885
SHRR2IIE SXNAIE Ot0lSssMEIA XI& 99,184 0 99, 184
J| 87,884
< 11,300
308 AHAIEHHSOIA 99,184 0 99, 184
J| 87,884
< 11,300
01 HIXNHHNBHNEELES 99,184 0 99, 184
Ost22IE SXAIE Ol0ISsSAHAEA & 99,184
J| 87,884
< 11,300
Ol 8 Setkt =29 277,715 226,122 51,593
Hegdst BAsd =4 277,715 226,122 51,593
101 @124 dl 15,769 43,960 A 28,191
04 JIZHHZ2XREES 15,769 43,960 A 28,191
O& A 2el 8,350& «BAl 2t%2202 x1&H 14,696
OHERE=S 1,073
201 €24 166,666 162, 162 4,504
01 At 22l 9,080 12,480 A 3,400
OBt & ==ZHl 5,000
Oul=l 720
O&F = Xyl 3,360
02 2324l 157,586 149,682 7,904
Os&22= & HA 70,292
oY S¢ L OXNELS =23 3,600
—&ax=ER= 7,140
-®llg(es) 12,996
-dMIE(AER) 38,016
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NETNVPE-EE SN oeE
CELE - PUEL-LIETE
ool HAUAFSY (SHol: @)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 239,132
=) 1,373,258
FAEIMuR 36,000 36,000 0
307 gl2tol & 36,000 36,000 0
11T M SRAISE EX 36,000 36,000 0
O&FAY F MR 36,000
ANEEALAEHEWAARASE 29 10,000 10,000 0
J| 5,000
< 5,000
307 glz2+0ol & 10,000 10,000 0
J| 5,000
< 5,000
11T MISRASER 10,000 10,000 0
OAMNEFEAHENWRRE 29 10,000
J| 5,000
< 5,000
ANAEAEHHRARAS 29 5,600 5,600 0
J| 5,600
308 MXIEHMSOIH 5,600 5,600 0
J| 5,600
01 HXNHHBHEELS 5,600 5,600 0
OXNGEAEHWLARAS 29 5,600
J| 5,600
HFad oA 12,000 12,000 0
307 gl2tol & 12,000 12,000 0
11T M SXASE EX 12,000 12,000 0
oA H=H 12,000
SHMOFEHa HAaYd &It 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
11T MIEXASEX 15,000 15,000 0
O=HordtHa Fa4d It 15,000
FAadHH sg8s Z208 29 36,000 36,000 0
307 21201 A 36,000 36,000 0
11T MISAASEEX 36,000 36,000 0
OFAHHN g8 T2 29 36,000
LA MAEL= WEEIZ)H X 40,000 50,000 A 10,000
= 20,000
< 20,000
307 21201 A 40,000 50,000 A 10,000
= 20,000
< 20,000




M ox
40 5 4

AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
11 AISI S XA E = 40,000 0 40,000
Ol MAZ=x T8 I 40,000
= 20,000
< 20,000
ELAUEEINER 3 XNE 658,667 626,333 32,334
= 190,100
< 468,567
307 21201 A 633,667 626,333 7,334
= 190,100
< 443,567
10 ALSISXAIEEE2GHEX 475,250 469,750 5,500
OZsdEMH 29 (1HLA) 475,250
= 142,575
S 332,675
11 AISI S XA E = 158,417 156,583 1,834
OSZEHH SKNIAAY 158,417
= 47,525
< 110,892
402 RIZ2FXt20l ™ 25,000 0 25,000
01 212t X2 AF 2 2= (REXIXH &) 25,000 0 25,000
OFAUSEIUEE ARY HE=> 25,000
SEESCFLAHEHIUERY JIsEZ 14,500 40,150 A 25,650
402 RI2HXt20l ™ 14,500 40,150 A 25,650
01 212t 2 AL E = (REM ) 14,500 40,150 225,650
OFAUZEIER SZEH A 14,500
448 HSEltY 29X 124,845 124,620 225
= 86,100
< 38,745
308 XXM S0 A 124,845 124,620 225
= 86,100
< 38,745
01 AXSGHBLAEES 124,845 124,620 225
OFAaY HSE0Y 22XA 124,845
= 86,100
< 38,745
448 s0tel #sX& 55,100 55,100 0
= 38,000
< 17,100
308 XXM S0 A 55,100 55,100 0
= 38,000
< 17,100
01 AXNSHHBANEES 55,100 55,100 0
O&AHE Fotel X 55,100
= 38,000




NERNCEEE-EE" SN e
HE: HAEAAAS
ool HAUAASAY (S5 &)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

| = 77,700

HAESEAE XS A XA (XH) 202,332 205,626 A 3,294
J| 202,332

308 AHAIEHHSOIA 202,332 205,626 A 3,294
J| 202,332

01 AXNSHBLAEES 202,332 205,626 N 3,294
OFAEFHAE NEZAM X 202,332
J| 202,332

A9 oz dy 23 2 435 A 11,200 6,500 4,700
J| 11,200

308 XXM SO0 A 11,200 6,500 4,700
J| 11,200

01 IXNHHBNEES 11,200 6,500 4,700
O&FAYE T2 29 & 4t N 11,200
J| 11,200

Fad 292A¥s 29 15,000 15,000 0
J| 15,000

308 XXIEHHSOIA 15,000 15,000 0
J| 15,000

01 AXHHILEES 15,000 15,000 0
O 344 24233 24 15,000
J| 15,000

HAE SFusg ZZOH 314,286 330,000 A15,714
= 220,000
< 94,286

307 gl2tol & 314,286 330,000 A15,714
= 220,000
< 94,286

11T ALS S XAEE = 314,286 330,000 A15,714
O&FAaY &3dnus T2 314,286
= 220,000
< 94,286

B3 HAESBAE JSEZ(XY) 1,760,000 4,409,000 A 2,649,000
as 1,760,000

403 MtXSHHE A0l E 1,760,000 4,409,000 A 2,649,000
s 1,760,000

01 XM A=2EE 1,760,000 4,409,000 A 2,649,000
OZSEaHFEHANE JIs:2d 1,760,000
s 1,760,000

Aostsd 29X 100,000 100,000 0

307 21201 A 100,000 100,000 0

05 RIZt2IEt = 100,000 100,000 0
OXtgsrsd 2HX& 100,000

_20_




Ol & & = 2 SN e
FaE AL
HAUATSH (S5 &)
SN EAGA) - HRAY - BES 0l &t o il Bl RE2
A2EXNEX HRIHLH XA 181,560 133,200 48,360
307 gl2tol & 79,200 48,000 31,200
03 QIZtHHNHE2IEHEX 79,200 48,000 31,200
OFA2EXNEX MRIMSH X2 (HE) 79,200
308 XXM SO0l A 102,360 85,200 17,160
01 IXNHHBNEES 102,360 85,200 17,160
OFAEXNEX MRMSH X2 (XIH) 102,360
SHLAESEALE JISEL(REY) 716,000 569,000 147,000
s 630,000
< 86,000
401 AIEHI L 201 716,000 569,000 147,000
s 630,000
< 86,000
01 A& HI 716,000 569,000 147,000
OSSHAESEAL JIsE2(HEY) 716,000
s 630,000
< 86,000
HFAEA2XE 327,500 129,000 198,500
= 219,000
= 108,500
308 AHAIEHHSOIA 327,500 129,000 198,500
= 219,000
< 108,500
01 HXNHHNBHNEELS 327,500 129,000 198,500
OFAHALXE 327,500
= 219,000
< 108,500
FEE HAUFM)|I2HE A Ed 70,000 0 70,000
207 A O] 70,000 0 70,000
01 289 70,000 0 70,000
OFE=E 23X =AHE 318 70,000
4@ F0IIF SN AY 10,000 0 10,000
307 21201 A 10,000 0 10,000
11T M3 SXAISEEX 10,000 0 10,000
OFAaY HHWIF X3 A 10,000
gdetsd Jis2 60,000 0 60,000
402 RI2EX 20| ™ 60,000 0 60,000
03 212t &AL S HI 60,000 0 60,000
O srsd JIsEd 60,000
SESHE 6,143,835 5,628,810 515,025
= 14,000




NETNVPE-EE SN oeE
CELE - PUEL-LIETE
& FAHESHE CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 4,465,104
=) 1,664,731
HA2stde 2 (HY) 301,172 296,136 5,036
J| 150,586
< 150,586
307 glz2tol & 301,172 296,136 5,036
J| 150,586
< 150,586
10 AL SXAIEEE2EH EX 301,172 296, 136 5,036
Od=23de 2SN (RNEEH) 150,586
J| 75,293
= 75,293
O42stdleH 2ZXNE(01sE) 150,586
J| 75,293
< 75,293
H2stde 2GR (XH) 75,293 74,034 1,259
J| 75,293
308 A EHHSOIA 75,293 74,034 1,259
J| 75,293
01 HIXNHHBHELS 75,293 74,034 1,259
Od=3dH 2SXE 75,293
J| 75,293
40 &8st 24 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
11T MISXASEX 15,000 15,000 0
Odus NS ¢4 15,000
FALERHSIZAE AL 29 4,000 7,000 A 3,000
= 2,000
< 2,000
307 QI20| & 4,000 7,000 ~3,000
= 2,000
< 2,000
11T M3 SXASEEX 4,000 7,000 A 3,000
OFadRoiatdZAH XNAE2As 22X 4,000
= 2,000
< 2,000
FadRofedZAe 2 18,000 18,000 0
= 12,000
< 6,000
308 A EHHSOIA 18,000 18,000 0
= 12,000
< 6,000
01 HIXNHHNBMNEELS 18,000 18,000 0
OFAERNSIZAE 2L 18,000
= 12,000
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NETNVPE-EE SN oeE
CELE - PUEL-LIETE
& FAHESHE CEE-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2

| = 6,000

HAd &Y 2R (2 H) 148,712 151,786 N3,074
J| 74,356
== 74,356

307 2Iz2to| & 148,712 151,786 N3,074
Dl 74,356
= 74,356

10 M SXAANEEHESIGHEX 111,580 121,428 N9,848
OzAiday 2N (2H) 111,580
J| 55,790
& 55,790

11T A EXAIEEX 37,132 30,358 6,774
OFALAEHEEH SIAME(EH) 37,132
J| 18,566
& 18,566

AW HH SYXNH(NE) 874,301 745,521 128,780
Jl 672,538
o= 201,763

308 XHXIEHSOIA 874,301 745,521 128,780
J| 672,538
o 201,763

01 AIXSHMENEX= 874,301 745,521 128,780
OFAH2H 29N (XH) 874,301
J| 672,538
& 201,763

AW SENIMHDE(DE) 402,960 383,000 19,960
J| 201,480
= 201,480

307 2iztol & 402,960 383,000 19,960
J| 201,480
= 201,480

10 MM SAANEEHESIGHEX 306,360 287,250 19,110
O EAUESXNEHNH RESH(HE) 306,360
Dl 153, 180
o= 153,180

11 A EXAIEE X 96,600 95,750 850
O BAEESXNIHNH 2= (2H) 96,600
J| 48,300
= 48,300

HAE SSXNFHAHART=S(XH) 573,720 553,800 19,920
J| 573,720

308 XX G SOl A 573,720 553,800 19,920
J| 573,720

01 AIXSHMEMNEX= 573,720 553,800 19,920
OAZ HEAEUESESXNFHH 2SAME 573,720

_23_




AENVEE-E
SRR PN
o9 AUBSHE (el mel)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
| Jl 573,720
AU MEREAY 532,298 491,068 41,230
307 gl2tol & 532,298 491,068 41,230
10 AL SXNAIEEE2EHEX 477,298 441,068 36,230
OFAHHYE=SNEH 2 477,298
11T MISAASEX 55,000 50,000 5,000
OFALHYE XA 55,000
FaE g QAMH 29 10,000 15,000 A5,000
307 21201 A 10,000 15,000 A5,000
11T AR S XA E =X 10,000 15,000 A5,000
OFAY LHielddyH 29 10,000
SHNEZZN¥2INA (YY) 99,500 79,915 19,585
J| 49,750
< 49,750
307 glz2tol & 99,500 79,915 19,585
J| 49,750
< 49,750
10 AL SXAIEEE2EH EX 99,500 79,915 19,585
O SEHA T2 2R3 (2F) 99,500
J| 49,750
< 49,750
SHNZ2IHSSXJ (X&) 315,975 257,613 58,362
J| 315,975
308 XXM SOIA 315,975 257,613 58,362
J| 315,975
01 IXNHHBMNEES 315,975 257,613 58,362
OAN= SR 228 29 X2 (X&) 315,975
J| 315,975
st gt HAE X2 (HY) 347,500 351,000 A 3,500
J| 243,250
< 104,250
307 21201 A 347,500 351,000 A 3,500
J| 243,250
< 104,250
10 M2 SXNANEHES2IHEX 208,500 185,000 23,500
O g & #F24 XNIMY 2L 208,500
J| 145,950
< 62,550
11T MISXASEX 139,000 166,000 A 27,000
Ok stu 9 Fad XA 139,000
J| 97,300
< 41,700
st gt HAE X2 (XKJH) 871,878 819,000 52,878
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NERNCEEE-EE" SN e
SRR PN
el HAEESHE (crol e
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Jl 871,878
308 XXM SO A 871,878 819,000 52,878
J| 871,878
01 HIXNHHBNEES 871,878 819,000 52,878
OAlZ & % #4248 & 871,878
J| 871,878
M7 EFANHE 2S(HY) 66,040 58,314 7,726
J| 66,040
307 21201 A 66,040 58,314 7,726
J| 66,040
11T MISRAMSER 66,040 58,314 7,726
ONM7e8ZAANIMH 29 (2 Y) 66,040
J| 66,040
FLESENA A (XE) 54,600 54,600 0
J| 54,600
308 MtXIEHSOIH 54,600 54,600 0
J| 54,600
01 HXNHHBHEES 54,600 54,600 0
OANZ EAESEXE MY 54,600
J| 54,600
a4 gz 23X 1,378,886 1,205,252 173,634
J| 1,061,638
= 317,248
308 XX EHHSOIA 1,378,886 1,205,252 173,634
J| 1,061,638
= 317,248
01 HIXNHHBNEES 1,378,886 1,205,252 173,634
O&Fad &us g3X& 1,378,886
J| 1,061,638
< 317,248
stn=E AAE XNJHEH(XR) 54,000 52,771 1,229
J| 54,000
308 XXIEHHSOIA 54,000 52,771 1,229
J| 54,000
01 AXHHIYEES 54,000 52,771 1,229
Ostu=s" FAAE XM (XH) 54,000
J| 54,000
HE2IAIH (L) 196,232 124,193 72,039
el 2l 109,853 38,991 70,862
ol 2| 109,853 38,991 70,862
101 @124l 109,853 38,991 70,862
03 RIAHA2ZZRHE 109,853 38,991 70,862
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